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O Oracleld 0O O O O 0O SQL*Plustd O system/manager] [ [ [
SQL> conn system/manager U U 0O O OO O 0 [ userl/pass1] [
] connect,resourcel] [ [0 SQL> grant connect,resource to userl
identified by passl. SQL> conn userl/passl SQL> create table test(a
number,b char(19)). SQL> insert into test
values(1,to_char(sysdate,yyyy-mm-dd hh24:mi:ss)). SQL> insert
Into test values(2,to_char(sysdate,yyyy-mm-dd hh24:mi:ss)). SQL>
Insert into test values(3,to_char(sysdate,yyyy-mm-dd hh24:mi:ss)).
SQL> insert into test values(4,to_char(sysdate,yyyy-mm-dd
hh24:mi:ss)). SQL> insert into test
values(5,to_char(sysdate,yyyy-mm-dd hh24:mi:ss)). SQL> commit.
SQL> Oselect * from test. A B =--=--==== === mmmmmmme - 1
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